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  1 circle in asqquare

radius =   0.500000000000
ratio  =   2.000000000000

density  = 0.785398163397
contacts = 4
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  2 circles in a square

radius =   0.390524291751
ratio  =   5.121320343560

density  = 0.598902316058
contacts = 5
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  3 circles in a square

radius =   0.351471862576
ratio  =   8.535533905933

density  = 0.603693534587
contacts = 5
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  4 circles in a square

radius =   0.334735107215
ratio  =  11.949747468306

density  = 0.660014797289
contacts = 5
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  5 circles in a square

radius =   0.320445439141
ratio  =  15.603280275737

density  = 0.709709703127
contacts = 7
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  6 circles in a square

radius =   0.308913652863
ratio  =  19.422903275357

density  = 0.757814603624
contacts = 7
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  7 circles in a square

radius =   0.293884516036
ratio  =  23.818879927483

density  = 0.775238331435
contacts = 11
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  8 circles in a square

radius =   0.274864248385
ratio  =  29.105276684803

density  = 0.756548153680
contacts = 11
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  9 circles in a square

radius =   0.266632649665
ratio  =  33.754305826017

density  = 0.785844052832
contacts = 7
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 10 circles in a square

radius =   0.259198794034
ratio  =  38.580426414604

density  = 0.812599508587
contacts = 15
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 11 circles in a square

radius =   0.247163327190
ratio  =  44.504984315622

density  = 0.802570301381
contacts = 15

 E.SPECHT
15-MAY-2013

N = 12

1

2
3

4
5

6

7
8

9 10

11 12

 12 circles in a square

radius =   0.239133461623
ratio  =  50.181183003602

density  = 0.810926398507
contacts = 15
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